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tions, the probability that the searcher detect the object of search during
the time interval df is fdtf, where the coefficient f depends only on the
distance r between the two, f = f(r). If the object is fixed at the point
(¢, ») while the searcher moves at constant speed v in a path r = z(f),
y = y({), the probability that he detect the object during the time O to
T is

| — e~f:1(ndc

where
rto=[z(t) — & + [y@®) — F,
and where the constraint condition of speed v is
21t + ¥ () = v

But if the position of the object is not given except in probability; in other
words, if the probability that it lie within the infinitesimal rectangle

bounded by &, £ + d¢, n and 1 + dn is p(¢, n) df dn, where the “probability
density”’ p(£, n) is known, then the probability of finding the object is

given by the expression

ff 1 - e_'r"ri(')dtlp(f, n) d§ dn.
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